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2ZimSDK
Android BEH=E 8

Android | EiEE
Access : Fi—ENE
TDBank : jHEH &4
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BoEZEEY BECETn =]
RFF T X RRBR /proc/sys/fs/file-max 2500000
HIET SRR /proc/sys/fs/nr_open 2500000
Epoll 4 0rfd N PR /proc/sys/fs/epoll/max_user_watches [2500000
RIS EULATCPRTE /proc/sys/net/ipv4/tcp_mem 754752 1006336 1509504
Listen fd backlog /proc/sys/net/core/somaxconn 1024

fast recycling of TWsocketsv |/proc/sys/net/ipv4/tcp_tw_recycle 1

Reuse TW socket /proc/sys/net/ipv4/tcp_tw_reuse 1
HHEEHIEE /proc/sys/net/ipv4/tcp_westwood 8
Eth scatter-gather Eth sg Off

Eth generic-segmentation-

offload Eth gso Off




SR IEREOUAC - -1 RE T

Grouping: [Function J Call Stack Groupings: [Function J/ Call Stack
CPU Tirms CPU Timew
ozl Effective Time by Utiliza Function / Call Stack Effective Time by Utilization
Didle @Poor [JOk W Id: Qidie [l Poor [ Ok [lidezal [

i _read 34.485s —I H_raw_spin_lock 923.000ms —

# arch:buffer:Buffer:ReadFD 9.8335- Bupdate_sd_lb_stats T44.{}[lﬂrr15_
F _rmemmove_sssed back Q,535s _ ain 557.000ms _
[ write 5.702s [ — Oorme
_rn emcpy_ssse3_back I 5.692s - 5y5_epoll ct 482.000mms _
epoll_wait 4,313s - :

[F std:trl:_Hashtable<archi:channel:ChannelHandler*, archichannel:CH 4.{]565- Bl_acct_update_integrals 46T.Dﬂﬂm5_
#_Hashtable _iterator 3.543s ] #Htcp_recvmsg 461.000ms _
archxframework:ServiceProcessFa ctu::rr_l,r::GetServiceIF"rocessByIndex 2.BB8s . Bicp_sendmsg 431.000ms -

[+ _Hashtable_iterator 2.828s . Htcp_transmit_skb 384.000ms -
arch:framework:SocketM essageEvent::GnEncodﬁi 2.260s . *_raw_spin_lock_irgsave 382.000ms -
rtazespuEventStreamingProcessorBaseMetworkMessageHandler:Me — 2.2389s . [ _raw_spin_lock_bh 378.000ms -
gettimeofday 2.131s[] igh_xmit_frame_ring 367.000ms -
rtazesp:EventStreamingProcessorServiceProcess:GetAssignedProce]  2.128s [ Higet_light 366.000ms -
Ffree 1.820s ' user_exit 325.000ms -

+ arch:channel:Channel:WriteMNow 1.?365' Hlocal_clock EEH:I.{}Dﬂms-

it arch:buffer:BufferHelper:WriteFixUInt32 1.692s l epoll_wait I71.000ms -

t archiframework:IPCEvent:Encode 1.644s l native_sched_clock 266.000ms -

# archerhannalrndarintenarHaaderframanerndarNarnda 1 55n0< M mjiffies_to_timeval 236.000ms -

Fltraceswvs 231.000ms [

Intel® VTune™ Amplifier
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Grouping: |Functi|:|n | Call Stack Groupings: |Functi|:|n J/ Call Stack
CPU Time CPU Timew
Function / Call Stack Effective Time by Utiliza Function / Call Stack Effective Time by Utilization
Didle @Poor [JOk W Id: Qidie [l Poor [ Ok [lidezal [
#_read 34.465s | +_raw_spin_lock 923.000ms | -

# arch:buffer:B

amples: 377K of event 'cycles unt (approx.): 797075664 NN

__memmaove_s

Hwrite
+epoll_wait

# stdutrl:_Hash
+| Hashtable ite

+ archuframewao

+ rtarespeEvent
+ gettimeofday
H rtanespuEvent
+ free

t archichannel:

H arch:buffer:B

+larcherhannal:

) archaframewo

update sd 1b stats
_raw_spin_lock
main

fget_light
sys_epoll_ctl
tcp_sendmsg

[kernel] ]
[
[
[
tcp_recvmsg [
|
||
||
|
|
||
| |
1
|
|

[kernel]
access_proxy
[kernel]
[kernel]
[kernel]
[kernel]
[kernel]
[kernel]
[1gb]
Tibc-2.17.s0
[kernel]
[kernel]
[ip_tables]
[kernel]
access_proxy
[kernel]
[kernel]
[kernel]
[kernel]
[kernel]
[kernel]

_raw_spin_lock_bh
tcp_transmit_skb

1gb Xmit frame rind
__memcpy_ssse3_back
_raw_spin_Tlock_irqgsave
ep_send_events_proc
ipt_do_table
tcp_write_xmit
handleSocketMessage (InternetMess
find_next_bit
system_call

__schedule
update_blocked_averages
tcp_poll
tcp_cleanup_rbuf

[ W ) NS ) S ) S ) W) S ) S S S NSy S ) S ) S ) Sy Sy Sy U ) S| S| S —"y s—

i i i i i i i i i i i i a1/
AR ARAA RAARA ARRAARRARAR A& =
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int check support ssed 2() {

int res=0:
__asm_____ volatile (
"mowvl $1,%%eax\n\t"

"cpuidi\n\t"

"test S0x0100000, $%ecxz\n\t"

"Jz 1f\n\t" . .

"movl $1,%0\n\t" unsigned int _mm_crc32_u§(...)

i ) unsigned int _mm_crc32_ul6(...)

: unsigned int _mm_crc32_u32(...)
e PMeax”, "ebx”, ecx”, "edx") ; unsinged __int64 _mm_crc32_ub4(...)

}

SSE4.2%& M SSE4.2 CRC32%#F

Intel SSE4.2 CRC325ER/CRC32M48EXTLY,
W17 35W IRITEZEER ( SSE Huzr 6 13 )
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BARE
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Linear Regression , tRIBWSFIFFRNIZR

—1 BB R

Naive Bayes : $FESRBIFMAHEIR S0

NS

Q) sRESEs

R0 =[] = 5%
BiREHE

4R - FHEER

1 EDRIERAE) ‘ HAES
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3 BEEERS i TDW

4 RITERATA]

|

HEERIR

B

TSR




EIX&ZH

Rz FRhRAS

FRFEfR

IREFEIR

SCHYY
(=D
EE
ED

BEMiE I )

Map Reduce

-

-
)
=

HBase

DOC ID|DOC|010100

SE6H
=3l

TAG->010100

TN

BHENXSH

-

Spark streaming

DOC ID|DOC|010100

IREEHE
=3l

-

TAG->010100

\

-
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Pull
node

Pull

Aggrate
node
node
Aggrate
pull node
node

~

%

Rule Central
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BiRABHEE VIPLN NORMAL
- Clusters Cluster

\ hkiEE Bolt Bolt
L5 L5 L5 L5

UG g

Access Access Access
docker docker docker
node node node
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TCP_CRR(}E2:i%#)

200
150
= container-fixedip
100 .
H container-host
50 m container-sriov
0 -
1/1 41  1/64 464 1/256 4/256 container/bytes
TCP_RR(-b’:iEE)
3000
2500
2000 . —
m container-fixedip
1500 - .
H container-host
1000 - u container-sriov
500 -
O |

11 4/1  1/64 4/64 1/256 4/256 container/bytes
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